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lt becomes 15 f6O

DIVIDING DECIMALS
Begin dividing decimals the same way you would divide whole numbers.

15F<- dividend
,/

ivisor

1.5 x 10 = 15

/
power of ten

6x10=60

/
power of ten

60
0

4th 4. <- Align decimal points

Step 15'/@: Now divide.

AnotherExample: .O36FT

.036x1000=36

7.2x1O0O=7,2OO

200.
36.lrynT

7200
0

Write the divisor as a whole number. Do this by
multiplying the divisor by a power of 10 large
enough to make it a whole number.

Then multiply the dividend by the same power of 10.


